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Questions :1-100 

2. 

3. 

4. 

l T5G0T:1-100 

Part-A (Tamil Eligibilitv-Cum-Scoring test) 

(A) n60g Goui�SGOT0d 

(C) .60 GsiS6Id 

(E) GlnL QsfluuGldb n ) 

(C) 

(A) FUUG) GRGDE 

6OJG G0E 

(E) Glso Qsfluwlaena 

(A) itoJLD 
(C) GeT0a! 
(E) an sflwám 

(A) Ba5 

. 

(C) BiÜT L + 90pÜy 
(E) coL Qgflwelcna 

3 

Gons LDUGUÖÜT ;GTT : 150 
Total Marks 

(B) f60J (pDLL�S6010 

(B) 

(D) 60J QJ6) 6OTIb5IT0 

(D) rai5O paME 

(B) psTGD 
(D) Qsafil ay 

(B) BaioT + 

(D) Bar + 2.609üy 

: 150 
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5. 

6. 

7. 

8. 

9. 

(A) 

(C) 

(E) 

(A) @Gu 

(C) 5nGU 

(C) 

(E) L QgflwoliGn 

(E) 

sb518nÊlÜ 

(A) 

laL Qglwelav an a 

(C) 5ALÓLJSD 

(A) 

(E) loL Qsilwaláana 

(E) 

JGT (G5 

(C) 8DaGhl 
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(B) GuuGJTGOI 

(B) oflwndr 

(D) 6T 6dT 

(B) GsJ 5T 

(D) GemD Br 

(B) (5Dau(GHfl 

(D) uGT(GIH 

(B) SI) 
(D) 56LD LJSLD 



10. 

(A) l o ̀5LULÓ 

13. 

(C) QsuÜULÓ 

(E) loL Qsilwoflábana 

11. s 

(A) 9.6TGU. gTGO LDJT 

(C) 5co 

(E) L gflwelina 

(A) B. BgETS 

(C) JST 

(E) cnL Qgflwalc6na 

(A) usaug Bos 

(C) flesb 5TLGD 

(E) laL QgluwGlán) 

(B) 5(55IÜULÒ 

(D) 9gsmgLIULÓ 

(B) G.u. gmgGsTUTDG�I 

(D) 4516DLOUSSS�I 

(B) saTÜfum 

(B) AÖTLY 2GiT6TLD 

(D) AjaI G0T giTs 

QsmLGs$ GGu 
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14. 

15. 

16. 

(A) BDHST�I, Uq$SndT 

(B) 

(O) 

`flanan, BnarBST�0T 

aGolignG, SmnGÜI 

(D) Ulq `STGT, Q(H6lsg1ði 

(E) lL Qsflwalávana 

(A) Gr irLD GDD� QgmLd 

(B) GFÜGl nm GsTL0t 

(C) QWnUmLG GaneT� QsmLt 

(D) lgas QsTLd 

(E) oL Qsflwolcan a 

(A) JGosfl es alw oröT D TG) GTGÖT GT ? 

(C) Goofl loluc (pgoi 60LLn QUDu5ÖG GuTGGT5 ) GIT 5GÖOT 6lslp51? 

(D) Tbs PsSL enL Gu(G`G Gaaior ? 

(E) anL aflwolian 
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17. uQoniar rcöpnáb 

18. 

19. 

20. 

(A) 18 

(C) 11 

(E) oL Qgilwelána 

(A) BÜUsMOLumd 

(C) yI (HOTD GIITd 

(E) 6leoL Q5flwelna 

(A) LDlebsaT 

(C) 

(E) loL Qgfluwail áoaN 

(A) LBnBs0 

(C) afláv Sl4$51gTt 

(E) 

7 

(B) 20 

(D) 17 

(B) 5G, Gsbsani 

(D) (5Ln;wGlwoTt 

(B) u6öT E5 6TT 

(D) ogr� 

(B) 5Ôu0 

(D) ysGpb 
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21. 

22. 

23. 

24. 

(A) 

(C) sBSwiq. 5�T 

(E) GleDL QgluGl bwa 

(A) umeosflgnsT 

(C) 

(E) lL Qsiluelina 

. Gog5T 

(A) 56lwgsit 56Ö0T G00TSTEÖT 

(C) s0lssisJaJtag soui 

(E) an Qgilwlön 

(A) LD5T56 uTgT0 

(B) 56G50 QuTGRolgmsdiT 

(C) unGabst unIB5TE�I 

(E) 

CCSE4GT/2024 

(B) (p60 681 6J Ít. GTLI GGIT 

8 

(D) .y. Gumn 

(B) 

(D) 5TLD�SÁ) GOSl(a5it Ga. LDalråjsD 

(D) rGynG sulgcUGI 

(B) 2GLDGDD BTgTW GOT 56 

(D) sIGoubS0 (. CoT 



25. 

26. 

(A) u�STGT 

(C) aubg| 

(E) lL dsfluwaláoa 

(B) T(yamÜG QsTL0 

(C) Quwagèss QsTL0 

(D) lD GT Gwss QgTLd 

(E) loL Qsflwailávsoa 

(A) 

(B) &pi5gIaJTÚI GTgIOG 

(D) GDDSH|OJTLI GTSIN 

(E) oL Gsfluwafláana 

(B) b5 

9 

(D) ub5aJd 

6T60T 
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28. 

29. 

(C) umgloy Gonn aT 

31. 

(E) 

GT6JOJ60)5 OJTHSlwD GT60T ls. 

(A) QFug auT`Aluo 

(C) l6orT QUTÉwo 

(E) 

30. bllns - [saTa (GÜy as. 

Qgilweláan a) 

(A) 

(C) 

(E) o asflweln a 

LDÁGl65 (G,l4.60TIT GTT GT G0T LISI 

(A) 

(C) GLuT(GOTT(E Guut 

(E) soL Qsflwolina 
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(B) @5• GomGN GIT 

(D) 60p GorGN 6ST 

(B) sLL6N OIT oJT�SlUD 

(D) D6lon oumBflJO 

(B) lo 6t! Qsrcn 5 

(D) lon 61 (PDD 

(B) Qsyalns auut 



32. 

33. 

36. 

(a) 
(b) 
(c) 
(d) 

(A) 1 
(B) 1 
(C) 1 
(D) 2 
(E) 

(a) 

(C) 
(E) 

la 

(b) 

4 

(A) slsrabgiT 

3 

(C) 

4 

(E) 

(c) 
4 

2 

2 

1 

5flulena 

(A) oDM 1 DGD sfl 

A.n GJ. gnGDrgJaTT0 
anL Qsflualasn J 

(d) 

(E) lo Qsfuelwnw 

(A) G6u GBwnUTaJTGOT0d 
(C) LD.uT. lo(G5TOTLD 

(E) lOL QsflwoláD G 

2 

LD.QuT.l. Ppráslrmit 

3 

4 

3 

(A) gnGLDGQUgb Gsrula 

3. soflril pab Ggrns5á) GT s(GD Bfgo 
4. 5m6ofl w råiln JaT 

11 

bJO 

(B) DI(pEBToJDd 

(B) .Dg 2 DLo sfl 

(B) gm. T (SDJOT0 
(D) smu9 Gs lavawg 

(D) Q TsALDGo`HJD GaITula 

CCSE4GT/2024 
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(D) 2.Gou. smbl5ng0d 



37. 

38. 

39. 

(A) 

(C) s£ ssjsÜ 

(D) GiG05 LLO 

(E) a Qsflwolina 

(A) ssfut 

(B) (Gyat 

(C) s6Qaafl& lsst 

(D) umflur0 

(E) onL Qgflwol á ana 

(A) uTDUTL 4 list 

(B) 

(C) (G,aafla l6st 

(D) s6QGuafls ligi 

(E) loL Q5flwla0a) 
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40. 

41. 

42. 

(A) GsTQJ0, ETGJ50, BÁV(Gj6uft, bensa, Qumafls(, LD, LDI`HGD (G5. GUTBH) 

44. 

(C) GscTOJd, ETGJs0, BenSQ. po(saut, Quneflb(E5D, GUTBg, DGH60(5 
(D) GsGTOJt, ETOJS0, BOD(5out, BO, Qurrfl as(85, LD, Gungg. DGMGH 
(E) len Qsfluwoln 

(A) sg) 
(C) sb5g 
(E) anL agflwelio 

(A) QooTD 
(C) 

(E) 

Gsá) 

(A) 6((5ÜUD, HÓg, sugÒ 
(C) GrsD GO1, D G00T, Uuslc) 

(B) sbS 

43. pel GoumLuTLDlbg) sflwnat GlunGoaT lsá). 

(E) laL Qgflwelona 

(D) sB5aJt 

13 

(B) Qsá)aU 

(D) Qsorg1 

(B) sugù, HaUH, STflw� 

(B) GTI`J E5 (GT5 (fl6o ywaut Gaut QumþbSH 

(D) g0 60T, (LDgosu., s(5DD 
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(E) 6lGoL QflwoliuDGU 



45. 

46. 

47. 

48. 

(A) sDwH 5`HIOJQnglsT 
(C) 

(E) 

Qum(Gi55. 
(a) 

(b) 

(c) 

(d) 

(A) 3 

(B) 2 
(C) 2 

(D) 1 
(E) 

(A) 

(C) 

(a) 

(E) 

(A) 

(C) 

(E) 

uflwygTGOOT LD 

(b) 
4 

CCSE4GT/2024 

4 

1 

2 

UT6O6UGJ601LO 

(c) 
1 

4 

5OUJTLDTJGO0T LD 

3 

(d) 
2 

3 

4 

1. 
2. 
3. 

4 

(B) u Goml GuD D H 6T 

Gsaâprit 

14 

5nN`STBHAIT0d 

(B) LuflwygrG0T D 

(D) AÜugsngo 

(B) 

(D) ovtANGATLD 



49. HOJJrål BEá 

50. 

51. 

5LDLSJLOms` 5TÚfluefluuSI 

(A) 

(B) 

(C) 

(E) GlOL Ggiluaan) 

sflumeraumopo GunG`S6. 

(a) 

(b) 

(c) 

(d) smaT LIBBJD 

(A) 2 

(B) 1 

(a) 

(C) 4 

(D) 3 

(B) 

(C) 

(D) 

(b) 

3 

2 

(c) 

(E) G 

1 

(E) lanL QgfuweliwN 

4 

3 

4 

G5aG5wüUMQJTGO 0t 

o.Qum. AlaJ(GHT60TLD 

uflGorDSGN OGH0 
Qgiwláana 

2. 

1. 51GOL LDL6) 

3. GT(9`5n uubâ 

(d) 
4 

1 

4. 5á)ols GsmL HD 

2 

2 

56oln uuo 

15 

ULL}5gflulc 
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52. 

54. 

(A) 5G0T) DAD5LD 

55. 

(C) 

53. Upomlulen lopay Qeus. 

(E) L Qgfluelána 

(A) 

(O) DmGa~OGÜ uGoTLD 5Ts(ED 
(E) loL sflwaláw n 

(A) 

(C) uaioT B60T - aubsrBun 

(E) 

(A) WaIÓD Glsw 

(E) 

CCSE4GTI2024 16 

(B) uulog GGTLD 5TáGD 

(B) B65OJ GT LD -BÖMLBl 
(D) pig - BÖpDl 

(B) spQlsw Bleay 

(D) DgI6DLDUlôT GD LD 



56. 

57. 

58. 

59. 

(A) uolnownpout 

(C) `SLDÖD6ut 

(E) enL Q5flwalávena 

(A) sTWD ULLQJ0 

(C) aun(G6D GT` 5T`5MGOt 
(E) gfluelabana) 

(A) 

(C) GaubgyoDUuotl 

- QáGpafláo DduDgaTaT Afl wng)? 

(E) L Qguán 

(A) ouog Ga�6DG 

(C) 

(E) L gflualáana 

(B) siangOJd 

17 

(B) u9l6oTG) FL=LOuÍ 

(D) BraD QJ` GMG5NGaJd 

(B) l5Qorsi fl 

(D) sÜT GO LD I Gosfl 

(D) (G5mGoT `S(GD GT 

CCSE4GT/2024 
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60. 

61. 

(A) 

(C) 

64. 

(E) L Q5flueláma 

OJ.GU. LDTGtlásTd 

QomQuwt!GOJ0. 

(A) p. oJg5JTEOTIT0 

(C) ,.G. s6lumeT SH b5JT0 

(E) eL Qgflusîl bnaN 

(A) 5$fualriisD 

(C) s6b Glou 

(E) 

62. 56l aJLlDmLluci D5ATGTI)I : NSI 5afli (50DuZspG eflu Qomgl; FLDGEl(Gs 

(A) 1965 

(C) 1990 

(E) GlaoL QsfluGlNN 

63. sTgTETGsn uná Gs' aSl(h5 P5T(LDG Sláo alsmLiSÜULL GoT GTEI? 

(A) sJGJS1GF GHourlsaT 

(C) uouá) sDUbS (P5lum0t 
(E) 

(B) . sgTGGOT ITÍT 

CCSE4GT/2024 

(D) Q.Qum. BamL b5J6at IT0d 

18 

(B) o.auT. louG5IT6T LD 

(D) .6T 6ÞT. GÖOT 600T ITSIG0D 

(B) Ganm`sGT 

(B) 1969 

(D) 1996 

(B) 5. IgIETÓ 
(D) CsmD�) HUTLDl5156T 



65. 

66. 

(A) uwGDD QsnG) 

(B) GnpismHOu 6tr QsáawD lo 

(C) rsfl.f Dmsáo usssá) 

(D) sDQsuá fay 

(E) lL Qsfluwaln 

ULGU, 5olo, 660T LÜUG0D, 25NS, HTSHJLD, D(G4 

(A) 56lá), JL5L0, 5600TæUOD. 5T66JD, LDSl4, 2 6isGn 

(B) 2_(énE, 560TLIUGOD, 56, 5TGHJLD, ULD, LD(5, a. 

(C) LSU, 9 Qá605, DG4. BTG6JD, 600T LI JG)D, 56l 

(D) BT66JD, 5600T LJJG0D, 2G GDH, SOl, oGlq. ULGn 

(E) aL QgfuwGlinw 
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67. 

68. 

69. 

(A) 

(B) 

(C) 

(D) 

(E) 

(A) 

(C) 

(I) 

LD(GDGsT GJL LDTGOT LSwo 

apnÜygrGT LD 

lsm`S[5T5d LJeUJLL60LWT0t 

(E) oL Qgilwlin 

56l 5TOTLD5D 

(E) 

(I) oTefl w BLl louGioT LUTouT) 0 LD �55). 

(A) () oDgD (|I) 

(B) (), (I) opgLD (I) 

(C) (), (II), (IV) si 

CCSE4GT/2024 

(B) Alu Qsns6p1gt 
(D) (GDGyst 

20 



71. 

72. 

() 

(II) ( 

(A) (1) sfl (1) fl (1|l) 5aug 
(B) () sfl (ll) 5aUm (|I) sfil 
(C) () sfl (I) 5aug (ll) 5og 
(D) () sag (l) sfl (III) sfl 
(E) 

(A) 5dTarT G) 

(C) 
(E) an Qsflueán 

(a) 

(b) 

(c) 

Gum(GÉ5DTGI GUTHGDATS Gstay QsL5Ó). 

(d) 

5TElssmGÖOT L LD 

5T6)S5oflsb 

(a) 
(A) 1 
(B) 3 
(C) 2 
(D) 2 

(b) (c) 
2 

4 

4 

3 

LDITDDTS 

3 

2 

3 

1 

(E) olaL QsfluwGánw 

2. 

1 

(d) 
4 

1 

Gug 

4 

(B) 5` 56) 

1. 56oT 60T5 TEG0T 

(D) QsÜLÁ 

3. BÜH5TTd 

QaTrs Gana4660T 
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73. 

74. 

75. 

(A) 

(B) 

(C) 56Slos 

(D) 

(E) lL Qgfluweli 

'uG05plays 5olgrwt GrITID GDLp5ÜLQaut 
(A) Gurasfl 5msci � GuGlss y6rmé 
(B) uTglunt 

(C) p. 9aspi6 - . Gnasr 
(D) ULQ&GsTLL60L 56)JTGOT SFbSJD 

56Ó0T 600TSTEGOT 

(E) an Qgflwldo 

(C) 

(A) g,flwroIGovGw olsÜup6D LDITG0T 6ITGDSD 5h60 S EJEOIl LDSTG) KITQVSLDm(S,LD 

(E) 

(D) QsnáaGSTal 6or Glw 5IDSGo Qbslumaloor luilw rVSLOMSÓ 
ao QgiluGlabn a 

CCSE4GT/2024 

popGw, 
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76. 

77. 

78. 

79. 

(E) lonL flwlaaa 

(B) gGoT LTLD GouogoDLD� G5TG0E5 
(C) 

(D) aSlanITB Qsrn5 

(C) aumEJ BlscoT 
(E) laL Qgilwelin 

(A) GoubgiGsibg PYGJm s 

(B) s6Goubsit GoitbgiPYG UNt 

(E) ooL Qgflwel6na) 

23 

(B) 56oT Lq. JQU Tªl S5TJLD 

(D) Ará5O BlsaisG 
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80. 

81. 

82. 

83. 

(A) 

(C) 

(E) loL Qsflwelána 

(A) s5. 5TGOGQauá 

(C) G. oSgompafl aut 

(E) 

(A) 

(C) gá (SDDID 

(E) 

(A) LTSL0d. T6lo) 

(C) unâ) umlumi 

(E) 

CCSE4GT/2024 

(B) eÞÜT L TLD GauogyoD G5r605 

24 

(D) JoÜT LJ OTGD 5 

IDpIØII -QbHIDA The Four Hundred Songs of War and Wisdom : An 
Anthology of poems from Classical "Tamil, the Purananuru 6TGöT OJ LD 

(B) -.4. Gumn 

(D) . scTUTGo(ES 

(B) up5TOID 

(D) 5Ds Qsrcn5 

(B) u4. Gumn 



84. 

85. 

86. 

87. 

88. 

(A) 

(B) 
(C) 

(E) 

(D) 5(GH60)F SJSrOI D516) [6TA)5LD 

(A) 

(A) BjsrÜQpel 

(C) 

(C) &youmapÖl 

(E) 

6NT GOT IT GIÖDmGoT 

(E) enL QgfluwlánaN 

(A) 

sGbT6ol LDmJT GTAD ESLD 

(C) 

HOJI BSUJb BQJoT GIIADSD 

anL Qsflwolcna) 

(E) 

(A) U. 

GNNALTÚü  560Ju6 

R5 6LGomg fgmLDLD 

oL Qsflwláwana 

agwsnBBI 
(E) Qsflweln 

GTAD5LD 

(C) 5TDJTEd 

aoL QsfluwGlá6nN 

25 

(B) ypmGpáal 

(D) Qa eypctigb 

(B) sflÜy Doflsar 

(D) Gspgblá LDflstsaT 

(B) U. flrasmgLD 

(D) MssTepfigs) 

(B) (5.Gl. s6lwrao1G5 J60T T 0d 

(D) l(G5t. GNT 600T T 
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89. 

90. 

(A) (hoJGLD 

(C) 

(E) lL QgfluGflábena 

Gun(GBMÈ QETáGNAN` 50oT L pls. 
(A) 

(C) ugO OJ 
(E) loL Qgfluliban 

91. aDp l(6`5D GQsws. 

(E) l0L QgfluelanN 

92. aD (sD Qsus. 

(E) lon Qgflwalma 

CCSE4GT/2024 26 

(B) flaO 68Tw`EO 

(D) fl&QsrpQprLt 

(B) 
(D) 9 



93. 

94. 

(A) 

96. 

(C) ÖpcT 

(E) enL Qsflueldna 

Fiction GrGiTS)D Qsrávalo 5ptQsrá) 
(A) 

(C) gIGOD 

(E) 6looL gilwoláw a) 

95. s$5)É (GGmans - sDGp oubgI 

sm£lD LGaugmb- umggumt. 

(A) sD ET QJ(LJNLDB 

(C) ogY auaJDE 

(E) L gfluona) 

(D) upQoml, ong), TJG Gsranau 

(B) igor 

(E) Qgflulvna 

(D) 5) AD GJ GT 

27 

(B) yo) 60TO4 

(D) 

(A) 5TGÖT LD GIofl ̀ SSi l G0E5, PgdomyläSTGHl, g,smgs GsmGDAU 

(B) umÔ) GU(GNLDS 

(B) siGTT 5TÓUg. tlwna BTÒUg, 50GuLol BTÓUS) 

(D) LayauDs 

CCSE4GT/2024 
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97. (,6l(h,sib' stchiD [HIGSlc�i Allut 

(A) BLDDmþaunt 

(C) DgJ56l wnaumi 

(E) lL QgfluGl dma 

(A) ÜUÍ 

98. (g£ Gssngí usin5Ü UTGWQJt wn0? 

(C) sbTt 

(E) lo Qsfluelána 

(A) IUTGDAJ 

(C) praflunt Glor 

(E) lnL QgfluuGlávGoQN 

99. Lom0tss fri5afláo DTáO Gsnlsaflgb a5flgo PSÜUGo ITLG) 

(A) uD60)DLD 60GUW4.5 OIT 

(C) GaGswüunGJnGOT0 

(E) lGoL QgiluSliana 

(B) ÜUTGMTT)QITt 

CCSE4GT/2024 

(D) Guum)at0 

28 

(B) sbUBsÌ 

(D) LoTGoflése56Jmssd 

(B) auQony 

(D) Gzaunyb 

(B) Gugm. saflsTwsLO 

(D) 2.GoJ. smLlBg id 



loTT`5GT : 101-200 

Questions : 101-200 

(A) City Manager 
(B) 
(C) 

101. Who is the Chief Executive Authority of the Municipal Corporation? 

(A) 
(B) 

(E) Answer not known 

(C) 

Part-B- General Studies 

(D) Assistant Commissioner of Police 

Municipal Commissioner 
Collector 

(B) 

(E) loL Qgflweláana 

(C) 

(A) Winston Churchill 

(E) 

LDTOJLLL Llwt 

102. One of history's great oration, "I have a dream" was given by 

(D) 

Paul Kennedy 

(D) Abraham Lincoln 
Martin Luther King 

Gung pla 

Answer not known 

(A) flc 

SlgemD aSl ras e5 6öT 
(E) olOL Qgfluoláana 

Total Marks 

29 

: 150 

: 150 
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I03. Which of the following statements are true about the Himalayas? 

() Zaskar, Ladakh, Kailash and Karakoram ranges are found in the 
trans � Himalayas. 

(ii) The Greater Himalayas receives lesser rainfall as compared to the 

lesser Himalayas and the Siwaliks. 

(i) The Outer Himnalayas is the most continuous range. 

(A) 

(B) 

(C) 

(D) 

() only 

(i) 

() and (ii) only 

(ii) 

) and (iii) only 

(E) Answer not known 

(i) and (ii) only 

`pisngnJLD QUT`flwrkJsafláo GTGNGU sfluns QowDGNNUyLGoT GTLTYOLwgI? 
STGDS0T, UT`, 

(A) () wLQU 

(B) (i) oDgs (i1) DLGD 

(C) () oDgD (1ii) oLQü 

(D) (1) oDgo (iii) oLQ 

(E) anL Qgflwolivana 
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104. In which year did the Govt. of India declare Tamil as the first Classical 
Language? 

(A) 2008 

(C) 2004 

(E) Answer not known 

(A) 

(C) 2004 

(E) 

105. Human Rights Day is celebrated on 

(A) 9th December 

(B) 

(C) 

(D) 

2008 

(A) 

(B) 

(E) Answer not known 

(C) 

11th December 

LD6flg flooo BmeT TöoT L TL ÜUG65 

10th December 

(E) 

12th December 

iqsLDUÍ 9 

lqsDud 11 

iqoLDu0 10 

(D) qÚUd 12 

31 

(B) 2010 

(D) 2002 

(B) 2010 

(D) 2002 
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106. Assertion (A] 

Reason [R] 

(A) 

(B) Both [A) and [R] are true and [R] does not explains [AJ 

(E) 

The Ministry of Education (Formerly Human 

Resource Development-MHRD) in India formulates 

education Policy in India and also undertakes 

Education Programs. 

Both (A] and (R] are true and [R] explains (A 

(C) [A] is correct and [R] is false 

The centre is represented by the Ministry of 

Education decides the India's Education budget. 

(D) [A] is false and R] is true 

5J60T LD [RI 

Answer not known 

(E) 

(A) [A DDpo [R] QJatoT Gb sfilunomg, DDgD RJ, (A| nau alas(8ps 

(C) (AJ sflunng) DDgD R| gaprag) 

(D) |AJ $aprag LoÖgID RÊ sflunamg 
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107. A person invested Rs.12,000 in a fixed deposit scheme for 2 yearS at the 

rate of 5o compound interest. How much amount will be got on maturity 
of the fixed deposit? 

(A) Rs. 13,200 

(B) Rs.13,430 

(C) Rs. 13,230 

(D) Rs. 12,600 

(E) Answer not known 

R(5Ud . 12,000 5% GoaLq oSlls$ßáo 2 6öoT G5(GT54i G BysT 6naJÜY 

(A) 5. 13,200 

(B) 5. 13,430 

(C) 5. 13,230 

(D) . 12,600 

(E) aaL QglueaN 

33 CCSE4GTI2024 
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108. Assertion [A]: 

Reason (R]: 

(A) 

(B) 

(C) 

(D) 

(E) 

[A] is true, but R] is false 

"Thiranari Thaervu Thittam" was launched in the 
year 2023. 

Both (A] and [R] are true, [R] is the correct explanation of [A] 

To encourage the government school students to 

pursue higher education in premier institution. 

[A] is false, R] is true 

of [A] 

Both A| and R] are true, but [R] is not the correct explanation 

oDD (A]: 

Answer not known 

2023 D G£T pal Gstays LLO agmL`SÜULL5. 

CCSE4GTI2024 

(B) [A] oogo RJ 6oTGLD l, R]-TTUg |A|-1lcot sflun lar`5� 

(C) (A] sag. [R] sfl 

(E) oL Qgflwolcena 

LDTGOT 6uTS6)oT 

34 



109. If A =1, B=2, C=3, ...Z = 26 then L.C.M. of H,C,F is not equal to 

(A) X 

(C) A+C+ H 

(E) Answer not known 

A=1, B =2, C=3, ...2= 26 

(A) X 

(C) A +C+ H 

(E) 1an gfuelonaJ 

110. Find the value of V55/5.... 

(A) 

(C) 

5 

52 

(E) Answer not known 

(A) 5 

(C) 5 

oy5vs... 

(E) a Qgfwelin 

GT6015 

35 

(B) E +S 

(D) A x Cx H 

(B) E +S 

(D) A x Cx H 

(B) 50 

(D) 5' 

(B) 50 

H,C,F-oiT B..o T5DG$ 

(D) 5' 

CCSE4GT/2024 
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111. Identify the teeth absent in milk dentition in mammals. 

(A) Premolars 

(C) Canines 

(E) Answer not known 

(A) soTE5 60) L GuTn UÖS6iT 

(C) GTNIJÜ U�s�T 

(A) Glucose 

(C) Fructose 

(E) Answer not known 

112. Which of the following food material is translocated by phloem loading? 

SLbGÜUGspg? 

(A) 

(C) 

(E) 

(B) Molars 

CCSE4GT/2024 

(D) Incisors 

(B) 9söTS6D LQUTÚ UÒ5ÞT 

36 

(D) QouLGn u!5cT 

(B) Starch 

(D) Sucrose 

(B) LT0` 

(D) Ggreu 



113. A fungus causing disease in plants is renorted recently to cause infection 

1n man is 

(A) Plasmodiophora brassicae 

(B) Chondrostereum purpureum 

(C) Taphrina deformans 

(D) Puccinia graminis var-tritici 

(E) Answer not known 

(A) 

(B) 

(C) 

(D) 

(E) 

U`fllwr gmLlGoflciu umt-LgflLq 6ns. 
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114. Which one of the following is the wrong option for the rock-cut cave 

temple of Gupta period? 

(A) Udayagiri Cave (Odisha) 

(B) Ajanta and Ellora Caves (Maharashtra) 

(C) Elephanta Cave (Maharashtra) 

(D) Bagh Cave (Madhya Pradesh) 

(E) Answer not known 

(A) 

(B) 

(C) 

(E) 

GTGlJGoT LIT (6)S (DSTJTOYL4J) 
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115. Assertion [A]: 

Reason [R] : 

(A) 

(B) 

(C) 

(A) 

(B) 

5TJA0TLD RJ: 

(C) 

(D) Both [A and [R] are true; but [R] is not the correct explanation of [A] 

(D) 

249 of the constitution titution enables the 

Parlhament to transfer a subject from the state list to 

the union list. 

(E) Answer not known 

(E) 

Article 

[A] is true, but [R] is false 

It is for the purpose of legislation by parliament on 
grounds of national interest 

Both [A] and (R] are true; and [R] is the correct explanation of [A] 

[A] is false, but R] is true 

lat5LDGUAN 

AJFDLDÜL9GóT 249-6J5| 

Lomßl 

[AJ gaug, ,6TITá R] sfl 

39 CCSE4GT/2024 
[Turn over 



I16. A woman reformer who was instrumental in Dr. Muthulakshmi's 

introduction of the Devadasi Abolition Act 

(A) 

(B) Annie Besant Ammaiyar 

(C) 

(D) 

(E) 

(A) 

(B) 

(C) 

Moovalur Ramamirtham Ammaiyar 

(E) 

Dr. Dharmambal Ammaiyar 

Nagammaiyar 

Answer not known 

LIT`L0. 5TOTDUTGT L� GO LDIt 

(D) 5m5 LD GN LDUm0 
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117. Pagoda was a 

(A) Silver 

(C) Bronze 
(E) Answer not known 

(A) 

(C) 

(E) 

Pillai? 

(i) 

(ii) 

118. Which of the following statements are true about V.O. Chidambaram 

(iv) 

(A) 

He was a follower of Gopalakrishna Gokhale. 

He was known as Chekkiluththa Chemmal. 

(iüi) He founded the servants of India Society. 

(C) 

(E) 

(i) 

(ii) 

He was a lawyer. 

(iüi) and (iv) only 

GT60)6 ? 

(ii) and (iv) only 

(C) 

Answer not known 

O.2. 

(A) (iii) oogo (iv) wLGb 

coin of Vijayanagar descent. 

(11) oogD (iv) DL GD 

(B) Copper 

(D) Gold 

(E) oSlL Ggflwolcv 

5/T600T UU� UGTLT GT60T æULLSI. 

(B) Qsby 

41 

(D) sr�J5sD 

(111) blu uoflurart sTHJ5H GD5 GsmÖglismt. 

(B) (ii), (iii) and (iv) only 

(D) (), (Gi) and (iv) only 

(B) (i), (iii) oogD iv) oLQU 
(D) (i), (ii) oogo (iv) o-Go 

CCSE4GT/2024 
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119. Tamil Nadu Gross State Domestic Product (GSDP) has grown at the rate 
% for the year 2022-2023 as against India's GDP growth 

rate of 7.24% during the same period. 
of 

(A) 8.10 
(C) 
(E) 

2022-2023 
(GSDP) As sna0 5LL$sd QbAurGlk GDP auart bA alAsDMs 7.24%s6 

% ouaT&ÀlwGDLbSH). 

(A) 8.10 

(E) 
(C) 8.15 

(A) 

Reason R] 

(B) 

120. Assertion [A] : Mangala Malai" scheme Was introduced during 

(C) 
(D) 

8.15 

(E) 

Answer not known 

(A) 
(B) 
(C) 
(D) 
(E) 

61JG00T Lo RI 

2012-2013. 

[A] is true, [R] is false 

[A] is false, [R] is true 

To facilitate the orphan girls to get a suitable 
bridegroom. 

Both [A] and [R] are true, [R] is the correct explanation of [A] 

(B) 8.12 
(D) 8.19 

Both [A] and [R] are true, [R] is not the correct explanation of [A] 
Answer not known 

CCSE4GT/2024 

(B) 8.12 
(D) 8.19 

Qsuispg. 

[A] son. [R] sf 

aplpsæUOBSÜLLLg. 
LOT6)6 

|A] LDÖgo |RJ 9gGßoT GLD Ssfl, [R]-oGÜT LIGI |AJ-al6or sflumar olaá5L 

42 

2012-2013@a 



121. If Rameela says, "Ragavi's father Raman is the only son of my 
father-in-law Ramanathan", then how is Ramani, who is the sister of 
Ragavi, related to Ramanathan? 

(A) Wife 

(C) Daughter 

(E) Answer not known 

(A) 

(C) LDS6T 

(E) GlnL QgflwlvnN 

9 women earn Rs. 12,400? 

(A) 9 days 

122. 3 men and 4 womnen can earn Rs. 3,780 in 7 days. 11 men and 

13 women earn Rs. l5,040 in 8 days. In what time will 7 men and 

(C) 10 days 

(E) Answer not known 

7 

(A) 9 5rGTS�T 

(C) 10 5mGT�T 

(E) anL Qgfuelawana 

(B) Sister 

43 

(D) Grand Daughter 

(B) Gsmgfl 

(D) Gu#) 

(B) 12 days 

(D) 11 days 

(B) 12 BTG0T 5 GT 

(D) 11 5TGT 5 60T 

CCSE4GT/2024 
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123. The acids present 

(A) Malic acid, Citric acid 

(B) Acetic acid, Lactic acid 

in Grape and Tomato are 

(C) Tartaric acid, Oxalic acid 

(D) Ascorbic acid, Tannic acid 

(E) Answer not known 

(A) 

(B) 

DTela A, lfls LlaLD 

(C) LT0LmflÉ Ao, `ETGSl Alo 

(E) anL Qsflwolana 
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124. Samagara Shiksha Abhiyan Schemne aims to 

(A) Integrate vocational education with General Academic Education 
(B) Integrate Technical Education with Higher Education 

(C) Integrate Teacher Education with General Education 

(D) Integrate Formal Education with Non-formal Education 

(E) Answer not known 

(E) 

125. Who is the author of the book "Ambedkar: A Life"? 

(A) Shashi Tharoor 

(B) Ashwin Fernandes 

(C) Meghnad Desai 

(D) Satyajit Ray 
(E) 

(B) 

Answer not known 

ovel 6o QuiTTONT L 60U 

(C) GoápmG Ggsmu 

(E) GloL Qgfluwolin 
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126. Which animal was not known to the Harappans? 

(A) Pig 

(B) Elephant 

(C) Horse 

(D) Buffalo 

(E) Answer not known 

(A) wor |) 

(B) wT6O60T 

(C) sog 

(D) THGDLD 

(E) lDL sflualc en a 
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127. Arrange the following Committees in the correct chronological order : 

I. G.V.K. Rao Committee 

II. Balwant Rai Mehta Committee 

III. 

IV. 

(A) 

(B) 

(C) 

(D) 

I. 

II. 

III. 

IV. 

(A) 

(E) Answer not known 

(B) 

(C) 

L.M. Singhvi Committee 

Ashok Mehta Committee 

(E) 

III, I, II, IV 

IV, III, I, II 

II, IV, III, I 

II, IV, I, III 

6TG).6T LO. lrsol (5( 

III, I, II, IV 

IV, III, I, II 

II, IV, III, I 

(D) II, IV, I, III 
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BLOJl4,`0HS(GHH515 

(D) wfua sLLÚ Gugmaulá yansi(H 6ioT ( oiluspsns 

48 

(D) 5. 10 QLsD 

Bomb Throwing in the Central Legislative Assembly 

(B) 5. 5 QLs 

(D) Rs. 10 lakh 

CCSE4GTI2024 

(B) Rs. 5 lakh 

Answer not known 

Chittagong Armoury raid 

Case. 

(E) 

(C) 

(B) 

(C) Lahore conspiracy case 

Answer not known 

(A) 

(B) Kakori conspiracy case 

129. Ram Prasad Bismil and Ashfaqulla Khan were arrested and tried in the 

Rs. 8 lakh 

(E) 
(D) 

(A) 

(E) 

(A) 5. 2 QaLsD 
(C) 

(E) 

(C) 

(A) Rs. 2 lakh 

amount of 
128. "The Swadeshi Steam Navigation Company" started with cap1tal 



130. Various welfare schemes to enhance the overall development of Adi 

Dravidar and Scheduled Tribe people, a sum of Rs. 

been allocated in the Budget Estimate for the year 2023-2024. 

(A) Rs. 3012.85 

(B) Rs. 3212.85 

(C) Rs. 3512.85 

(D) Rs. 3552.85 

(E) Answer not known 

(A) 

(B) 

(C) 

(D) 

5. 3012.85 

(5. 3212.85 

3512,85 

3552.85 

(E) oaL QgfluSlinw 

49 

Crores has 

CCSE4GT/2024 
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131. The Roman Writer Piliny the Elder writes of 
History as the first emporium of India. 

(A) Kaveripumpattinam 

(C) Musiri 

(E) Answer not known 

(A) 6mGlDULI46TLb 
(C) pl) 

(A) Salem 

(B) Trichy 

(C) Nilgiris 

(D) Madurai 

132. Iyothee Thassar founded the Dravida Mahajana Sabha in 1891 and 
organised the First Conference of the association at 

(E) Answer not known 

(A) GeoUD 

(B) öfl 
(C) feÂAA 

(D) DgOJ 

(E) eoL asilul dnN 

CCSE4GT/2024 

(B) Nagapattinam 

50 

(D) Korkai 

(B) T6ÜUL4 ATLD 

(D) GsnÖNS 

's, in his Natural 



133. How many great circles can a hemisphere have? 

(A) 1 

(C) uncountable 

(E) Answer not known 

(A) 1 

(C) 

(E) lsoL Gsflwsâloena 

is 500 m². 

(A) 2000 m3 

(C) 2100 m3 

134. Find the volume of a cylinder whose height is 4 m and whose base area 

(E) Answer not known 

5T680T . 

(A) 2000 8 

(C) 2100 83 

(E) lL Qgflwelán 

(B) 0 

51 

(D) 2 

(B) 0 

(D) 2 

(B) 2500 m3 

(D) 2700 m3 

(B) 2500 83 

(D) 2700 83 

CCSE4GT/2024 
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135. Which of the following statements are false about "conditions for no 
Doppler effect"? 
1. Listener at rest and Source moves towards the Listener 

2. 

3. 

4. 

(A) 

(B) 

(C) 

(D) 

(E) 

1. 

2. 

3. 

4. 

(A) 

(B) 

(C) 

S and L move in such a way that distance between them remains 
constant 

(E) 

S and L are moving in mutually perpendicular directions 

The Source is situated at the centre of the circle along which the 
Listener is moVing 

1 only 

1 and 2 only 

1 and 4 only 
3 and 4 only 
Answer not known 

pal eypao (S) oDgD GsGH0 (L) QôrgaQsnGòTgI QsGHSTS BS(5LD Gung 

GJLLnunGngl b6(hDGUngI 

1 oogo 4 oLGb 

(D) 3 oDMD 4 wLQu 

eoL Qgiuán 
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136. Which one of the state has swamp deer as its state animal? 
(A) Kerala 

(B) Nagaland 

(C) Haryana 

(D) 

(E) Answer not known 

QsrT GGTGT5I ? 

(A) GsjeTT 

(B) 
(C) apflumeT 

(D) 

(E) 

(B) 

(A) USA 

(C) 

137. In which country the 49th G7 summit (2023) was held? 

(D) 

Maharashtra 

(E) 

(A) 

(B) 

(C) 

LDSMJTGlq-JT 

(D) 

(E) 

South Africa 

Brazil 

Japan 

aTbS BTLgd) (2023go yT G) 49-Qug G7 2s ioTBTO pMLauDDGI? 

LDmßlab 

Answer not known 

LOT6060T 

53 

Lomßla 
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138. 

Partition of Bengal. 

(A) M.K. Gandhi 

(C) 

(E) 

(A) 

(E) 

(C) Gbsyp+G Umori 

(C) 

Surendranath Banerjee 

(A) Bahman Shah 

started a 

Answer not known 

M.K. snbs 

(B) Mohammed Gawan 

(A) 

(B) 

(C) 

139. A king who emerged victorious in all his expeditions and engraved the 
title Second Alexander on his coins 

(D) Samudragupta 

(D) 

(E) Answer not known 

Krishnadevaraya 

l5,GG, GnT G5oQgTut 

$£T GÜS0 

CCSE4GT/2024 

(E) ao Qsfluwel ávna 

mass Raksha Bandan festival during 

(B) Jawaharlal Nehru 

54 

(D) Rabindranath Tagore 

(B) pauam0tonáo Go 

(D) aßpßlyBi` STt 



140. Which day is celebrated as overseas Indian's day? 

(A) November-9 

(C) January-9 

(E) Answer not known 

(A) 5OJDUÍ-9 

(C) gaQfl-9 

(E) 

(A) Dr. B.R. Ambedkar 

(B) Dr. Rajendra Prasad 

(C) H.C. Mukherjee 

141. Who is considered to be the Architect of the Constitution of India? 

(D) V.T. Krishnamachari 

(E) Answer not known 

(A) LT`L0. 9.yt. bGu#st 

(B) 

(C) 

(D) . q. l(5ai6T LDIT`Gnil 

(E) 

(B) December-9 

55 

(D) February-9 

(B) l4sbUt-9 

(D) 9ugaufl-9 

CCSE4GT/2024 
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142. The author of the book "Why I am an Atheist"? 

(A) 

(C) 

(E) Answer not known 

(A) F.Gou.gT. uflumt 

(E) 

E.V.R. Periyar 

(C) u$flra! 

Bhagat Singh 

(A) Bala Gangadhar Tilak 

(B) Gopala Krishna Gokhale 

(C) Dadabhai Naoroji 

143. Name the author of book �Poverty and Un-British Rule in India". 

(D) M.G. Ranade 

(A) 

(E) Answer not known 

(B) 

(C) sngTUTÜ GDar Gye 

(E) 

(D) GTD.1. gr6o1 

CCSE4GT/2024 

(B) C.N. Annadurai 

56 

(D) Rajaguru 

(B) .6T GT. GßOT GSOT T5IGOJ 

(D) grgGH 

1 



144. The term "Satyaputra" found in the Ashokan Inscription refers to 

(A) Adiyaman 
(C) Pari 

(E) Answer not known 

(A) lwor 

(C) 

(E) lL QsfluwailavaDa 

(A) Put out 

(C) Life 

(E) Answer not known 

145. What is the meaning of the word "Extinguish" when Valluvar tries to 

compare lust to "Pouring Ghee to Fire"? 

(A) aSl$gá) 

(C) 

(E) l asfluwoláana 

(B) Karikalan 

57 

(D) Neduncheralathan 

(B) 5flsrGöT 

(D) aBGH GsyongI 

(B) System 

(D) Expertise 

(B) 60M GDLD 

(D) uulcayLGOLD 

CCSE4GT/2024 
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146. Who said "Better Bullock carts and freedom than a train deluxe with 

subjection"? 

(A) M. Veeraraghavachari 

(B) B.P. Wadia 

(C) G.S. Arundale 

(D) Annie Besant 

(E) Answer not known 

(A) M. SggmsouTÉSTl 

(B) B.P. outqwn 

(C) G.S. AGGÓITGLJ 

(D) coT GoflJscTL 

(E) 
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147. Kayal bought 5 dozen eggs. Out of that 45 eggs are good eggs. Express 
the number of rotten eggs in percentage. 
(A) 45% 

(C) 25% 

(E) Answer not known 

(A) 45% 

(C) 25% 

(E) soL QsfluGlwN 

(A) 1 

(C) 3 

(E) Answer not known 

148. If Sunday = 2, Tuesday =3, Thursday =2. What is the value of Monday? 

(A) 1 

(C) 3 

(B) 35% 

(E) lDL QluGláo 

(D) 15% 

59 

(B) 35% 

(D) 15% 

Sunday =2, Tuesday = 3, Thursday = 2 GTGtl Monday osit LoUL GT GÜN GaT ? 

(B) 2 

(D) 4 

(B) 2 

(D) 4 

CCSE4GT/2024 
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149. Match the following: 

(a) Cerebral cortex 

(b) Hypothalamus 

(c) Cerebellum 

(d) Pons 

(A) 

(B) 

(C) 

(a) (b) 
1 

2 

(D) 2 

2 

(A) 

(B) 

(d) urGÜT G0U 

(c) lgeypnaT 

3 

(a) 

3 

(E) Answer not known 

2 

1 

(C) 2 

(D) 2 

1 

(b) oDÜGUTgQTLDGU 

CCSE4GT/2024 

(b) 

(c) 

3 

2 

&yisnaTJQJDOD dumG�HIS : 

3 

4 

(a) du(GeLpGnarTÜ ypasfl 1. 

1 

3 

1 

4 

(c) 
2 

4 

1. Temperature control 

3 

2. Sensory perception 

4 

3. 

4. 

(d) 
4 

1 

4 

3 

2. 

3. 

4. 

(d) 
4 

1 

4 

Role in sleep-awake cycle 

Maintenance of posture and balance 

60 



s0 Match the Religion and Place of worship : 

(a) Jainism 

(b) Judaism 

(c) Buddhism 

(d) Zorostrianism 

(A) 

(B) 

Religion 

(a) 

(C) 1 

(a) (b) 

(D) 3 

2 

2 

(A) 

(B) 

(C) 

LDSD 

(c) yBsDG0 

FLD 600TLO 

(E) Answer not known 

(b) ag0LTÚGVD 

4 

(d) aggmgnGiDLq flwÝ 

2 

3 

2 

4 

1 

1 

(a) (b) 

(D) 3 

4 

3 

(c) 

4 

1 

1 

2 

4 

(c) 
1 

1 

4 

(E) SeL Qgflwolán 

1. 

3. 

2. Agiyari 

4. 

(d) 

1 

3 

4 

2 

2. 

3. 

4. 

(d) 
3 

4 

3 

Places of worship 

2 

Synagogue 

Basadi 

Vihara 
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151. Match the following with their correct answers: 

(a) Peshwa 

(b) Shurnavis 

(c) Nyayadhish 

(d) Pandit Rao 

(A) 1 

(B) 4 

(C) 

(D) 

(a) 

2 

(a) GuaiauT 

(A) 

(C) 

(D) 

(b) 

(B) 4 

(b) stBmal aiu 

2 

(c) lumußGU 

1 

2 

4 

3 
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(E) Answer not known 

(a) (b) 

2 

1 

4 

(c) 

3 

2 

2 

4 

(c) 

3 

2 

2 

4 

(E) leoL Qsflwlna 

1. 

2. 

3. 

4. 

(d) 

1 

4 

1 

1 

2. 

3. 

(d) 

4 

3 

4. 5D HDDas0t 

1 

Secretary 

1 

Chief Justice 

High Priest 

Prime Minister 
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152. Which of the following statements are true about "Anti-defection law"? 

() 

(ii) 

(iii) Made some changes in the 91st Amendment Act of 2003 

(A) ) only 

Provided by the 52nd Amendment Act of 1985 

(B) () and (iii) only 

Added in the 9th schedule to the Constitution 

(C) ) and (i) only 

(D) (i) and (iii) only 

GTHI? 

(E) Answer not known 

(i) 

(ii) 

525 AJFODÜys sLLÉsGHSD 1985, aflisg. 

9JFOLDUL 9g 

(ii) 91 JENLDÜLJ` sLLBSGGSD 2003da ypaOTS t lg ($sD 

(E) 

QsuwuLLS. 

(A) (i) DLQu 

(B) (1) ooDD (1ii) oLQb 

(C) i) oDgD (i) DLQ 

(D) (i) odgo (iii) DLQÙ 
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l53. Who appeared in the court in defence of revolutionary nationalists in the 
Alipur blast case? 

(A) 

(C) 

(E) 

wmd? 

(C) 

(E) 

(A) AsTGHEGIT 5TGU 

(A) 

Chittaranjan Dass 

V.0. Chidambaram 

Answer not known 

O.9. 

154. Who was honoured with such titles as Rao Sahib (1926), Rao Bahadur 
(1930) and Divan Bahadur (1936) for his selfless social services? 

(B) Mylai Chinnathambi Raja 

Rettaimalai Srinivasan 

(C) M. Singaravelar 

(B) 

(D) Dr. C. Natesanar 

(C) 

(E) Answer not known 

(A) ggL60LD 60 A Fofloumscr 

(1936) lw uLLri 5OD GTn Guppaut uÍ? 

LDul60a lct601b9 grT 

(D) LTSLd. El. 5GL56oTIT 0d 

(E) oL Qgfluelan 

(B) Bala Gangadhar Tilak 

(D) G. Subramaniyam 
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(B) umA)SI`JSTSJ st 

(D) G. ÜJDsfl LwÓ 
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155. Who did eulogise Thirukkural as given below? 

"Will any other didactic book is needed if one knows Thirukkural". 
(A) Avvaiyaar 
(C) 

(E) 

(A) 

(C) 

Bharathiyaar 

(E) lGn afluwolin 

(C) 

Answer not known 

(E) 

Brother-sister help 
(D) Father, mother help 

156. What are the two things that one should keep in mind when setting out 
to conquer the world in the Kural? 

"Gnalam Karuthinum Kaikoodum'" 

(A) Wealth and Bravery I courage 
(B) Time and Place 

Answer not known 

(A) Qsdb eu(pb, afgo 
(B) mGwoD, yob 
(C) sCeng - sGsngil gol 

(E) olaL Qgfluwaloan 

(B) Prof. Sundarampillai 
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(D) Shuddhananda Bharathi 

(B) GUgm. Hb5JU ar6nGrT 

(D) sr#grGT bS ITgßuTt 
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157. The radius of a conical tent is 700 cm and the height is 24 m. Calculate 
the length of the canvas used to make the tent if the width of the 
rectangular canvas is 4 m. 

(A) 

(C) 1.375 m 

137.5 m 

(E) Answer not known 

(A) 137.5 B 

laSTNNs Qsnam 700 Qs.B Tpo 24 B euJpò 2.60LW G iDY aJl,Qu` 

(C) 1.375 8 

(E) laL QsflusÂlána) 

158. Find the next number : 

1, 2, 6, 24, 120, ? 

(A) 135 

(C) 720 

(E) Answer not known 

1, 2, 6, 24, 120,? 

(A) 135 

(C) 

(E) 

720 

(B) 13.75 m 

CCSE4GTI2024 

(D) 1.037 m 

66 

(B) 13.75 L6 

(D) 1.037 B 

(B) 146 

(D) 438 

(B) 146 

(D) 438 



159. If 3x + 4y:4x + 6y = 22:32 then x:y 18 

(A) 1:2 

(C) 2:1 

(E) Answer not known 

(A) 1: 2 

3x+4y:4x +6y = 22: 32 6T6fla x:y arGTUgI 

(C) 2:1 

(E) aL Qsflwoláma) 

a and b is 

(A) ma 

160. If the two numbers a and b are in the ratio m:n. Then the LCM of 

(B) nb 

(C) mb 

(D) ab 

(E) Answer not known 

(A) ma 

(B) nb 

(C) mb 

(D) ab 

(B) 1:4 

(E) laL Qgfuwelána 

(D) 3:1 
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(B) 1:4 

(D) 3:1 
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161. Identify the correctly matched Fossil : 

(A) Alga 

(B) Bryophyte 

C) Pteridophyte 

(D) Gymnosperm 

(E) Answer not known 

(A) 

(B) 

(C) QLAGLMo6DUL 

sfluns QuTGHu Qsndguna GsipGs0ss : 

(D) oGonnsuio 

(E) 

Furcula 
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Naiadita 

Lepidocarpon 

Rhynia 

bWLLLT 

aaÜGLTST0UmGaT 
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162. Choose the correct statements: 

(i) 

(i) Project Tiger was launched in April 1974. 

(ii) The Indian Government has established 16 Biosphere Reserves. 

The Government of India enacted Wildlife Protection Act in 1972. 

(A) ) only 

(B) ()) and (iii) only 

(C) ) and (ii) only 

(D) (ii) and (ii) only 

(E) Answer not known 

sfluner umslur`I5GN ATG G5rHas0 : 

i) 

(ii) yolsát ungjsmLIL LO qÜgeo 1974-94 QsmiGÜuLLgi. 

(iii) Aw sriGb 16 2usl ts Garar sÜLSI`ISO AT gOUGByorarg. 

(A) i) DLGD 

(B) 

(C) () oopb (11) oLGD 

(D) (ii) oog (ii) oQ 

(E) 
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163. The first modernised Jute Industrial Unit was established at 
in West Bengal in 1855. 

(A) 
(C) Cloaster 
(E) Answer not known 

(A) 

(C) 

1855 

1. 

(E) eL QsfluwláonN 

2. 

3. 

4. 

(A) 

164. Arrange the chronological order. Following countries got highest point in 
the human development index in descending order (As on 2016) 

(C) 

(E) 

Burnpur 

1. 

2. 

3. 

utciTyd 

4. 

(GormaiLd 

Norway 
Switzerland 

India 
Australia 

1 

2 1 

4 

(A) 1 

(C) 2 

2 

Answer not known 
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4 

4 

3 

QuflnsÜUB565. (2016 D 0T l�, GÝT LJl4) 

3 

2 3 

1 4 3 

(E) GonL Qsflwailowan 

(B) Serampur 
(D) Rishra 

LDnglasggdrT 

(B) QsrmOy0 
(D) floiJT 

70 

(B) 4 

(D) 2 

(B) 4 

(D) 2 

2 

1 

2 

1 

H 1 3 

3 

1 

3 

4 

3 

4 



165. Which among the following inscriptions mention the trade contacts 
between Mesopotamia and Harappan civilisation? 
(A) Devanagiri 

Cuneiform (C) 
(E) 

(A) 

(E) 
(C) syofl utLD 

(i) 

Answer not known 

Gsauprsil 

(A) ) only 

166. Which of the following statements are true about Directive Principles of 
state policy? 

(C) () and (ii) only 

() 

(E) Answer not known 

(i) 

Bo.,pop 5 6ÑÜT L lE5 : 

(A) 

(ii) Dr. B.R. Ambedkar described it as "novel features" of the Indian 
Constitution. 

(C) 

(iii) These principles are enforceable by the courts. 

(E) 

Article 36 to 51 deals with directive principles of state policy. 

(B) Kharoshti 
(D) Hieroglyphics 

lpÜubsÚ GTGT Glauflslprt. 

(B) 

() oLQo 

(D) 

(1) oÓgb (ii) oLGu 

GgTGi_I 

71 

nD Ggranerseiu 

sLLÜAfo 36 - aSl(hB5 51 QJDJ AJG GblopyggD GsmLurG5aT 

(B) ) and (ii) only 
(D) (ii) and (iii) only 

(B) (1) oDgD (11) DLQo 
(D) (1) DDgo (ii) oGo 
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167. Which of the following statements are true about Theeran Chinnamalai? 
Theeran Chinnamalai was a Palayakkarar of Kongu country who 
fought against the British East India Company. 

(i) 

(ii) 

(iüi) From 1800 to July 31, 1805 (ie) the day of his hanging, Theeran 
Chinnamalai ceaselessly fought against the French. 

(A) ) only 

(B) 

He was trained by the French and Tipu. 

(C) () and (ii) only 

) and (iii) only 

(D) (i) and (iii) only 

(i) 

(E) Answer not known 

(ii) 

(iii) 1800 

(A) (i) wLQo 

(B) ) UDgD (1i) oLQo 

(C) i) LDDgID (ii) oLQo 

(D) (ii) ogo (ii) DLQo 

(E) aL Qgfwelona 
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168. Which of the traits differentiates all living things from human beings as 
according to Thiruvalluvar? 

(A) Actions 

(C) Dress 

(E) Answer not known 

Gaugugispri? 

(A) Qsmla 

(C) 9_60)L 

(E) laDL Qgflual ásoa 

(A) Bangladesh 

(B) India 

(C) Nepal 

(D) Japan 

169. Aksai Chin remains a disputed area between China and 

(E) Answer not known 

(A) urssGssb 

(B) bun 

(C) GsLuTGTD 

(D) 

(E) laDL Qgflwoáv6n) 

(B) Foods 

(D) Place 
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(B) 9_600T6 

(D) L 

LDÖDD oaroflb QoLGu sitéMs0Eflu usums 
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170. The H.C.F. of two numbers is 11 and their L.C.M is 693. If one of the 
number is 77, find the other 

(A) 

(C) 99 

79 

(E) Answer not known 

(A) 79 

(C) 99 

(E) an asflwolian 

(A) 

GTGÜT ES GfloÝT LÕ.QLuT.QJ 11 oÓDU lsaT L8.. o. 693. t GT GÓT 77 6T6oil 6o 

171. A merchant has 120 ltrs and 180 ltrs of two kinds of oil. He wants to sell 

oil by filling the two kinds of oil in tins of equal volumes. What is the 
greatest capacity of such a tin? 

(C) 60 ltrs 

(A) 

10 ltrs 

(E) Answer not known 

GT 60160T 2 

10 l 

(C) 60 l 

(B) 88 

(E) enL Qsflwolá6n 

(D).77 

wmmfl Go(BOut 6ßoT () NSWTT GT G00T (ol GoT J56) 6IT (a0 DGw 120 6l, 180 GT1 

CCSE4GT/2024 74 

(B) 88 

(D) 77 

(B) 30 ltrs 

(D) 90 ltrs 

(B) 30 Sl 

(D) 90 Sl 



172. Vignesh borrows Rs.10,000 for 2 years at 4% p.a. simple interest. He 
lends it to Sanjay at 6% p.a. for 2 years. Find his gain in this transaction 
per year. 

(A) 200 

(C) 600 

(E) Answer not known 

(A) 200 

G&Garo 2 GoT (G(ahG 4% aJL l4sisia (. 10,000 

(C) 600 

(E) looL Qgflwelcn 

(A) 1:91 

(C) 91: 10 

(E) Answer not known 

173. Find the ratio between HCF and LCM of the numbers 7 and 13. 

(A) 1:91 

(B) 400 

(C) 91: 10 

(D) 800 

(E) loL QgflwGl ánJ 
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(B) 400 

(D) 800 

7 ooDD 13 w or6óT 56rfl ci LB.uM.QJ LDÖgo �.l.D oloT Glginsi 5TGOT E. 

(B) 13:7 

(D) 7: 13 

(B) 13:7 

(D) 7: 13 
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174. Match the following : 

(a) Ganymede 

(b) Titan 

(c) Neptune 

(d) Triton 

(A) 

(B) 

(a) (b) 

4 

(C) 2 

(D) 4 

(a) Gsfl LB 

(b) 60 LLL_6ÞT 

(A) 

(c) asü4yi 

4 

3 

(d) l4cogLLTT 

(B) 3 

4 

(E) Answer not known 

(C) 2 

3 

(a) (b) 

(D) 4 

1 
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3 

4 

(c) 

1 

2. 

1 

4 

2 

(c) 

1 

4 

(E) lL Qglual i en) 

1. 

2. 

3. 

4. 

(d) 

1 

2 

1 

3 

1. 

2. 

3. 

4. 

(d) 

1 

2 

1 

3 

Moves in opposite direction to the direction 

of the spin of its planet 

Greenish star like appearance 

Moon with clouds in our solar system 

Largest moon of our solar system 
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175. Consider the following statement (Reason and Assertion type) : 

Assertion [A] 

Reason [R] 

Make in India program was launched in 2014. 

Intended to boost the domestic manufacturing sector 
and als0 augment investment into the country. 

(A) A] is true, but R] is false 

(B) Both (A] and R] are true, and (R] is the correct explanation 
of [A] 

(C) [A] is false, [R] is true 

(D) Both [A] and R] are true, but (R] is not the correct explanation 
of [A] 

(E) Answer not known 

5J60T LD R] 

Obsunaflko ejuss Qsuys LLD 2014-á lpsLDTGNgI 

BGD. 

(A) (A] efl, ,Táo R] sag 

(B) [A] LoDDD [R] QrioT GLD f, oDgo lRI GrG�T LIg A] bsr. sluna 

(C) [A] saug, (R] sfil 

(E) oloL QgflwelnG) 
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176. Which of the following states have a Common High Court? 

(A) Delhi and Calcutta 

(B) Kerala and Telangana 

(C) Punjab and Haryana 

(D) Maharashtra and Gujarat 

(E) Answer not known 

(A) QLGl oDpo Qsrá sHSIT 

(C) uáGSmÜ LDDgD 9DflwraaT 

(E) 
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